CST4_C2TEST_Review_Angles_Triangles (55) solution April 03, 2017

1. Consider triangle EGS represented below. g A’S
G
a <SS
10 ASA
y,
E S
e 17 om ———{

Which of the triangles represented below is necessarily congruent to triangle EGS?

2. Sylvio delivers mail for Canada. Leaving from point C, Sylvio must drive along roads

CB, BD, DE and EA in succession, ending his mail run at point A. Road BD is
Start [/

N
A

parallel to road AE.
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3. Consider triangle FNP represented below. A 56 ?“'
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Which of the triangles represented below is necessarily similar to triangle FNP?
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4. Find the length BC of the pond.
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5. In the figure below, line MN is parallel to line OP, lines EC and BD intersect at point

Aand 4E=AC. /&5\ o
E, /
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C
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The following proof can be used to show that triangles ADE and ABC are

congruent.
Statement Justification
1. ZAED = 7£4CB | 1. Ifa transversal line cuts two parallel lines, then the
alternate interior angles are congruent.
S 2 AF=4C 2. Given

Q 3. /FAD=/C4B 3. Vertical angles formed by two intersecting lines are

congruent. Voﬁ
4 AADE=AABC |4. ? QSN

Which of the following can be used to justify the fourth statement of this proof? (4pts)

@ If two angles and the included side of one triangle are congruent to two
angles and the included side of another triangle, then the triangles are
congruent (ASA)

B) If three sides of one triangle are congruent to three sides of another triangle,

then the triangles are congruent (SSS)

C) Iftwo sides and the included angle of one triangle are congruent two sides
and the included angle of another triangle, then the triangles are congruent
(SAS)

X If two angles of one triangle are congruent to two angles of another triangle,

then the triangle are similar (AA)

6. In the figure below, line segment DG intersects triangle EFH.
In addition:
HC /DG /| EF
mHC = mDG
mCD = 18cm
mDE = 20cm
mFG = 30cm
What is the length of segment HD?
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7. In triangle ABC below, line segment EF was drawn parallel to side BC, and line

segment GH was drawn parallel to side AC. A
In addition: \
mBE = 6cm \_m N
mCF =1.6cm \\
mEG = 10.5cm X\
mEH = 14cm \'5 kN
mFH = 4cm c > X B
What is the length of line segment GH in centlmetre" ~F . W94
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